(tx=1-1) BREHMEASIER

BEBEH ERERE BEZ ERREE
%7 | pu s oz | HEER | o
= (;\L)i){f“) @W$¥§ E-—'—- K_é'l.i 15;5%& \o?_::l:ﬁﬁ §=,§ 7 Ft%
B BUHE | iz g b B | IE | mm | #E | x| HE | = .
VLV 3 I
1 |sREH (il ﬁgg)%skm 300,000 (ZF?f;) 0] 32 |BgEF — EEEF
BFhE ==
ZR 18 £6.0(7.5)m
“HLVED M T
2 = ?@Z%ﬁ"& ’E&%}%km 150,000] 2030 O 32 |ZgEF — EEETF
2 AT HEH-5b — = (R12)
i 1% & 5.5(9.25)m
i (REE AR ’Eﬁ%ﬁlkm 250,000 2930 @) 32 | EREF| — |BXRET
LI M I & (R12)
SLH 18 85.5(7.0)m
A OLALDS, 3 T
7 DEBENHH ﬁgg)ﬁkm 163,000 2028 o} 32 |EgEE| — |sgET
4 |REW oo L= (R10)
5 18 5 5.5(7.0)m
BO_LALDS 3 T
s |mem  |[DEREAH ’Eg%%om s0000( X2 | O 30 |mgEE| — |szET
TP & ==
S5 18 & 5.5(7.0)m
Lé?aftél',‘wntkt/v BRWMET 2031 B
o |Rmm |(DBREMIR SE£0.30km 300,000| (prs o) 30 | EEET EEET
Ll 18 85.5(7.0)m
1hHm {— e I
; ELL ﬁgg)%om 200000| 2928 (@) 30 |H:EEF| — |BEETF
B ik Y 1B E5.5(7.0) R
= .9(7.0)m
_ FOYNLRERL ﬁﬂ%ﬂf{ﬁl 2029 .
8 |BREBSRH fm),iﬁ f FE£0.10km 200000 oy ©) 32 |H=EET EXETF
& 18 £5.5(9.0)m
& g SHVAR 1,863,000




